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“Do not write anything on question-paper except Roll
Number, otherwise it shall be deemed as an act of indulging
in unfair means and action shall be taken as per rules.”

Roll No.

B.Com. (H) (F) BFE

7

" 'Bus. Fin.

B.Com. Hons. (Final) Business Finance and
Economics Examination, 2015

Core Paper—I

BUSINESS FINANCE

Time—Three Hours

Maximum Marks—100

Az — (1)

Note :— (1)

VCK-—11108

WIT—H
PART—A

I—3 % gt gy fad &)
Ul @ IO TelF 30 weel ae difa
2 YEAF YT 2 IF FT OB

The questions of Part—A are
compulsory. The answers of these
questions are limited upto 30 words each.
Each question carries 2 marks.
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(2)

(2)

(3)

(3)

HT—d
PART—B

gcldE TS A A UF 9V #1 9G4 S
gC Hd 99 v F g AP y@3E
Yy H IAC ATHT 250 isal &7 & |
gl Y9 7 HE HT 2

Attempt FIVE questions in all, selecting
ONE question from each unit. The
answer of each question shall be limited
upto 250 words. Each question carries
7 marks.

aan—=H
PART—C

W WA o &= vEAl F I AR
Yo% YA H1 I I 500 WS F
g gAS Y 15 HF F 2

Attempt THREE questions in all from
this Part. The answer of each question
shall be limited upto 500 words. Each
question carries 15 marks.

W3
PART—A

1. fadfg ydg’ | 39 91 9AG £ 7

What do you mean by ‘Financial Management’ ?

VCK—I11108
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2. Fci ww-R=de famg w0 27
What is Financial Break-Even Point ?

3. faedy gmar o O @@ F F9r s 8 7
What is the difference between Financial Structure and
Capital Structure ?

4. Tz Avg 4T 8 7
What is Explicit Cost ?

5. W@ s seale aw R 7
What is Net Cash in Flows ? |

6. sewum sty IFIT ATHETIFAT 1 HHATRY |
Explain Post Pay Back Profitability.

7. WA O% ¥ 3T @G g9Ad € 7
What do you mean by Operating Cycle ?

8. FA Uds anra &1 2 7
What is Total Cash Cost ? |

9. AT B ﬁm'rﬁrf% YHIT qd1ZY |
Give types of Firms according to Walter.

10. |=7" Fu o1 Prfra & offRaiet # e o 2 7
Give conditions for issue of Bonus Shares.
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HTT—A
PART—B
TFTE—1
UNIT—I
“qgz frha gdg Poe & Rem @ &R 200 R
Fifo |
“Sound financial management is a key to progress for
corporation.” Discuss.
S LEL
OR
dia FAE # R 7 oawmge)
Explain in detail the Liquidity Ratios.
THErE—II
UNIT—II
W ATA B E U FUd FHA 60% d9T 30% B |
A4 wH A g gufei 50 A R A Al @ fae
U @ A 8% 2 | W A WA we wulh v

a &1 d gd 12% dwrdt B0 T oW e A9 F R

50% 2 |

Ard A

(1) O F & & a1 wH A a3 97 Iwgar eurd
e 7

(i) @2 o B & #T & ag ) vr aw wHAR
g & Farf 81 @ 9d wrafel U &1 9 ey
& ud B sw oafey ?
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The debt ratio of firms A and B are 60% and 30%
respectively. Both firms have assets totalling Rs. 50
crore and both have a cost of debt of 8%. Firm A eamn
12% before interest and taxes on its total assets. Tax
rate is 50% in both cases.

Find out :
(i) What does A earn on equity after interest and
taxes 7

(ii) If B is to earn the same rate on equity after taxes
as A, what must it earn before interest and taxes
on its assets ?

Fqar
OR
“FU PW H FEG TET Gd 217’ TWEE AT |
“Debts is the cheapest of funds.” Elucidate.
THrE—III
UNIT—III
Fral PNT
(i) FEFT T wE AFS YA®
(i) srf@E v X @ @ adRE qed |
Distinguish between :

(i) Accounting profit and cash flows

" (ii) IRR and NPV method.

HYET
OR
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uF Fd G gy § fFwm oo 8, # aftfls sy qnma
46,000 T8 21 W 1 A I & R w =wh=
A #1 gearE 8 e 9w 80,000 ¥90 w1 fafyanr @tm
qgn S 9RFEd drd 10,000 €YY &N FT IeH
% fou g v 5 e & g @ T fafa gro
saul ¥ eofafad fem o1 asa1 21 s S9q &
Wmﬁqg-uﬂraﬁlﬁﬂss%ﬁlm-ﬁ%

H%mwﬁmﬁﬁwﬁv@mmﬁw

ﬁﬁ‘m !

A job which is presently done entirely by manual

“methods has a labour cost of Rs. 46,000 a year. It is

proposed to install a machine to do the job, which

involves an investment of Rs. 80,000 and an annual

operating cost of Rs. 10,000. Assume the machine
can be written off in 5 yrs. on straight line depreciation
basis for tax purpose. Salvage value at the end of its
economic life is zero. The tax rate is 55%. Analyse
the economic implications of the proposal by the internal
rate of return method. htp://www jnvuonline.com

@E—1V
UNIT—I1V
Frdviid o @ v @ wwed € 7 T e TS
FIfT
What do you understand by Working Capital ? Explain
clearly- its significance.
HIAQT
OR
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Fiddie G fm wgaen W TSGR ® gaE 9
ool fof@ |
Write note on Tandon Committee suggestions relating

to working capital finance.

wE—V

UNIT—V
dr s @ Prfra & frog # 8@ @ A9 Rer-Prdem
&1 quia - B

Explain the new guidelines of SEBI on issue of Bonus

Shares.

Hq4r
OR

wF ar, s fafies A afy sw I™ 10 ¥ B qa

o frg oo 1 amp €T 10% B 1 SO D A
AT AT A 20% WAl 40% IFar 80%
q9AT} &1 REeT 21 A # BEA H T @
@ﬁﬂ%ﬁﬁﬁ%ﬂmﬁmﬁm

(i) 20%
(i) 10% 344l

(i) 8% @ |
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The earnings per share of XYZ Ltd. is Rs. 10 and rate
of capitalisation applicable to it is 10%. The company
has before it options of adopting a payout ratio of
20% or 40% or 80%. Using Walter formula, compute
the market value of the company’s share if the
productivity of retained earning is : '

(i) 20%
(i) 10% or
(i) 8%.
WITT—H
PART—C
Prea geaml &1 I @ gY, 0 A
(i) <ET @rdn
(i) - @@
(iii) Fgr .
i w .
gad O JIR 25%
s a9 I O 20%
fasa /g I - 8:1
wrlt wufiwi /e 9T gl w3 ;4
TG SHAT FAU 5:7

Ry gufemi 15,00,000 ®.
yf*aq =g 2.00,000 &
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Using the following information, complete :
(1) Trading Account
(i1) Profit and Loss Account

(iii) Balance Sheet
Informations :

Gross Profit Ratio 25%

Net Profit Ratio 20%
Sales/Inventory Ratio 8:1

Fixed Assets/Total Current Assets Ratio 3 : 4
Solvency Ratio 5:7

Fixed Assets Rs. 15,00,000
Closing Stock Rs. 2,00,000

gt @t wiRd sed ama & Fw e 2 7 3T
qfed F9ATRT
What is meant by weighted average cost of capital ?
Illustrate with an example.
wF Fafor #9ft w fafram yama ot @ qdE
fafein Fraeor vafte 3 w1 2, 9X faam +3 @ 21
AR@AT A drd 50,000 ¥R BRft ) gRaw w1 Ham
5a 8 991 39 Mg Iafine geu A€ aim | Fo
1 FT W 55% & au1 F3 R w1 «figa 781 2
w1 g @ @ Yar Ry s oga wwd 2 Rfram
# &1 yd FMira Jss vawe e gee 2

EL] F [ AFT T8

10,000

1
2 11,000
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af T [E AFT W9®
3 14,000
4 15,000
5 25,000
= &t e Fifd
Q) weUradA wafy

(i) 10% %3 X Y& |5 Iod

(iii) F=af® geamg T

An Engineering Company is considering an investment
proposal to install new milling controls. The project
will cost Rs. 50,000. The facility has a life expectancy
of 5 yrs. and no salvage value. The company’s tax rate
is 55% and no investment allowance is allowed. The
firm uses straight line depreciation. The estimated cash
flows before tax from the proposed investment proposal
are as follows : :

Year : . Cash flows before tax
1 . 10,000

11,000

14,000

15,000

25,000

o W N

Compute the following :
(i) Pay-back Period
(ii) Profitability index at 10% Discount rate

(iii) Internal Rate of Return.
Contd.
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4. TH, €, 4T F9A § WS IS B [T G TF
Frfi {off # smawewar &1 Raw 5200 == @
IeaeA & F g gARe s e g & o R

Elements of Cost Amount Per Unit
Raw Materials 8
Direct Labour 2
Overheads 6
Total Cost HF
Profit 4
Selling Price 20
Ffafr g=e o

(i) F=a1 A1 ANGAT TF AE WUSRH X @A 2|
(i) WA AT Y, WE IeaA gk ¥ weh 2
(iii) Frffa 7t shwas 6 g<e wvs & wa £
(iv) gifsafal g0 & 7' N g & ard 2

(v) ¥R F DA AE A TS EFa 2

(vi) Fogd # A ¥ oy e 1% awe w0 2
(vii) 0Fg 99 7 I T 7,300 T WA F I 2

A g gan & ¥ 5 IeureA, uftam 7 wegd
af g =g @ # )

You are required to prepare for the Board of Directors
of XYZ Ltd. a statement showing the working capital
needed to finance a level of activity of 5200 units of
output. You are given the following information :

Elements of Cost Amount Per Unit

Raw Materials 8
YCK-—11108 11 Contd.
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Elements of Cost Amount Per Unit
Direct Labour 2
Overheads
Total Cost 16
Profit 4
* Selling Price 20

Additional Informations :

(1) Raw materials are in stock on an average of one
month.

(ii) Materials are in process, on an average of half a
month. '

(ii1) Finished goods are in stock on an average of 6
weeks. -

(iv) Credit allowed by creditors is one month.
(v) Crcdi;'allawed to debtors is two months.
(vi) Lag in payment of wages is 12 weeks.

(vii) Cash in hand and at bank is expected to be
Rs. 7,300

You are informed that production, overheads and xi'ages
accrue evently throughout the year.

e AR F1 I T AR qU T THRE AT
e & smavgs o N e T gwwAd)

Explain the meaning of term ‘Dividend Policy’ and
critically examine the essentials of a sound dividend

policy.
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